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o Step 1: If n is small, for example n<6,
just sort and return the kth smallest
number in constant time i.e; O(1) time.

oStep 2: Group the given number in
subsets of 5 in O(n) time.



http://ranger.uta.edu/~gdas/Courses/Fall2004/advAlgos/student_slides/W6Presentation.ppt
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o Step3: Sort each of the group in O (n)
time. Find median of each group.

O Given a set
(ccoeenn 2,5,9,19,24,54,5,87,9,10,44,32,21,1
3,24,18,26,16,19,25,39,47,56,71,91,61,4
4,28......... ) having n elements.




MIN1'7 AT |I'YN NIN'NN

o Arrange the numbers in groups of five
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Find median of N/5 groups
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Find the Median of each group
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Find m /the median of medians
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Hashing
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http://en.wikipedia.org/wiki/Hash_table
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http://en.wikipedia.org/wiki/Hash_table

Hashing
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